EXECUTIVE SUMMARY Page 1 of 4

Nettrix守	7	R62	0 G40		Т	PCx-AI PC Pricing Report Date No	1.0.2 2.8.0 v. 16, 2022
TPCx-Al Performan	ce Tota	al System Cost	Price/	Performance	Э	Availability	/ Date
6,243.07 AIUCpm@3000	\$5	589,028 USD		\$94.35 IUCpm@30	00	November 1	16, 2022
Framework	Оре	erating System	Othe	er Software	5	Scale Factor	Streams
CDP Private Cloud Base Edition - Busine 7.1.7	RAN	Hat Enterprise Linux 8.2		N/A		3,000	10
Use Case Time (	sec.) by P	hase	■ Training	Serving 1	Serving	2 ■Throughpu	t (Avg)
10							
9							
8							
7							
6							
5							
4							
3							
2							
1							
0 2,000	4,00	6,000	8,000	10,000		12,000	14,000
Physical Storage / Sc	ale Factor	Scale Factor / Phy		ory Mair		Redundancy I	Model
43.60		0.18	3		Re	eplication 3	
Servers: Total Processors/Cores	/Threads	17 34 / 1,312 / 2,624					
Server Type	1x R620 G40	(Primary)		16x R620 G40	) (Comp	oute)	
	2x Intel(R) Xe 3.10GHz GHz	on(R) Gold 6346 CPL	J @	2x Intel(R) Xe 2.30GHz GHz		latinum 8380 C	PU @
	256 GiB	•		1,024 GiB	•		
J	1x Onboard S	ATA		1x Onboard S	ATA		
Network Controller	1x Mellanox N	ATA M.2; 1x 3.84 TB \$ MCX4121A-ACAT 250		1x Mellanox M	1CX562	; 1x 7.68 TB N\ A-ACAB 25G S	
	Ports NIC 1x Mellanox S			Ports OCP NI	U		

EXECUTIVE SUMMARY Page 2 of 4

					TPCx-AI	1.0.
Nettrix字畅	R620 C	<b>340</b>			TPC Pricing	2.8.
					Report Date	Nov. 16, 202
Description	Part Number	Source	List Price	Qty	Extended Price	1-Yr. Maintenance
Server Hardware						
R620G40 (Compute)	6101694602519950	1		16		
60WA32	2400260560000009	1	\$1,200.00	16	\$19,200.00	
Intel(R) Xeon(R) Platinum 8380 CPU @ 2.30GHz	CD8068904572601	1	\$8,000.00	32	\$256,000.00	
Samsung M393A8G40AB2-CWE 64G	M393A8G40AB2-CWE	1	\$265.00	256	\$67,840.00	
Mellanox MCX562A-ACAB 25G SFP28 2-Ports OCP NIC	MCX562A-ACAB	1	\$150.00	16	\$2,400.00	
SSSTC ER2-GD240 240G	ER2-GD240	1	\$90.00	16	\$1,440.00	
SAMSUNG MZQL27T6HBLA-00B7C 7.68T	MZQL27T6HBLA-00B7C	1	\$1,200.00	16	\$19,200.00	
Maintenance - 7x24x4 Care Pack (1-yr)			(included)	16		(included
				Subtotal	\$366,080.00	\$0.0
R620G40 (Master)	6101694602519950	1		1		
60WA32	2400260560000009	1	\$1,200.00			
Intel(R) Xeon(R) Gold 6346 CPU @ 3.10GHz	CD8068904570201	1	\$3,800.00		, ,	
Hynix HMAA4GR7AJR8N-XN 32G	HMAA4GR7AJR8N-XN	1	\$150.00		\$1,200.00	
Mellanox MCX4121A-ACAT 25G SFP28 2-Ports NIC	MCX4121A-ACAT	1	\$150.00			
SSSTC ER2-GD240	ER2-GD240	1	\$90.00			
SAMSUNG MZ7L33T8HBLT-00B7C 3.84T	MZ7L33T8HBLT-00B7C	1	\$650.00			
Maintenance - 7x24x4 Care Pack (1-yr)	WIZ/ESSTOTIBLT-OOD/C	-	(included)	1		(included
Maintenance - 782484 Care Fack (1-yr)			(included)	Subtotal	\$10,890.00	\$0.0
Server Hardware Subtotal					\$376,970.00	\$0.00
Network						
Mellanox SN2410 Switch	MSN2410-CB2FC	2	\$9,600.00	1	\$9,600.00	
IPC LC-LC OM3 Multimode Fiber cable 5M		4	\$1.30		\$22.10	
SONT XP28-8G25-01 25G 850nm SFP28 Transceiver	XP28-8G25-01	5	\$20.88			
Maintenance - 7x24x4 Care Pack (1-yr)		2	(included)	1	•	(included
		_	(meraded)	Subtotal	\$10,332.02	\$0.0
Software						
Maintenance - 7×24×4 Care Pack (1-yr)		1	(included)	17		\$0.0
Red Hat Enterprise Linux ServerStandard(Physical or						
Virtual Nodes)	RH00004	1	\$799.00	17		\$13,583.0
CDP Private Cloud Base Edition - Business		3	(see quote)	17		\$187,422.1
				Subtotal	\$0.00	\$201,005.1
Other Hardware						
HP M24fw Monitor + Wireless Mouse + Keyboard kit	NA	6	239.98	3	\$719.94	
•				Subtotal	\$719.94	\$0.0
				Total	\$388,021.96	\$201,005.1
ricing: 1 = Nettrix; 2 = Mellanox Technologies;3 ata Platform; 4 = JESS-LINK PRODUCTS CO.;			Total Sy	stem C	ost (USD):	\$589,02
P Inc				AIUC	pm@3000:	6,243.0
Discount applies to all line items where Key = 1.	Discount based			<b>*/*!!!</b>	pm@3000:	\$94.3

Prices used in TPC benchmarks reflect the actual prices a customer would pay for a one-time purchase of the stated Line Items. Individually negotiated discounts are not permitted. Special prices based on assumptions about past or future purchases are not permitted. All discounts reflect standard pricing policies for the listed Line Items. For complete details, see the pricing section of the TPC Benchmark Standard. If you find that the stated prices are not available according to these terms, please inform the TPC at pricing @tpc.org. Thank you.

EXECUTIVE SUMMARY Page 3 of 4

			TPCx-AI	1.0.2
Nettrix字畅	R620 G40		TPC Pricing	2.8.0
		Report Date Nov. 16, 202		
	<u>Numerical</u>	Quantities		
AIUCpm@3000	6,243.07	$T_Load$	3,16	
Scale Factor Streams	3,000 10	T <sub>LD</sub> T <sub>PTT</sub>	3,16.	2.01 6.11
Streams	10	$T_{PST1}^{PFI}$		8.41
Kit Version	1.0.2	T <sub>PST2</sub>	5	8.47
Execution Status	Pass	T <sub>PST</sub>		8.47
Accuracy Status	Pass	$T_TT$	8	9.82
	Test T	imes		
Overall Run Start	Time	2022-08	-19 06:11:59.140	
Overall Run End	Time	2022-08	-19 16:32:17.341	
Overall Run Elap	sed Time		37,218.201	
Load Test Start T	ime	2022-08	-19 08:27:40.308	
Load Test End Ti	me	2022-08	-19 09:20:24.681	
Load Test Elapse	d Time		3,164.373	
Power Training S	tart Time	2022-08	-19 09:20:24.683	
Power Training E	nd Time	2022-08	-19 13:05:30.829	
Power Training E	lapsed Time		13,506.146	
Power Serving 1	Start Time	2022-08	-19 13:05:30.834	
Power Serving 1	End Time	2022-08	-19 13:24:17.353	
Power Serving 1	Elapsed Time		1,126.519	
Power Serving 2	Start Time	2022-08	-19 13:24:17.357	
Power Serving 2	End Time	2022-08	-19 13:43:06.753	
Power Serving 2	Elapsed Time		1,129.396	
Scoring Start Tim	e	2022-08	-19 13:55:01.301	
Scoring End Time	)	2022-08	-19 14:02:21.606	
Scoring Elapsed	Time		440.305	
Throughput Start	Time	2022-08	-19 14:02:21.611	
Throughput End		2022-08	-19 16:32:17.340	
Throughput Elaps	sed Time		8,995.729	

EXECUTIVE SUMMARY Page 4 of 4

				TPCx-AI	1.0.2
Nettr	X宁畅	Re	620 G40	TPC Pricing	2.8.0
				Report Date	Nov. 16, 2022
		Numerical (	Quantities (continue	<u>d)</u>	
		Use Case	e Times & Accuracy		
Use Case UC01 UC02 UC03 UC04 UC05 UC06 UC07 UC08	Training (s 642.7 1,607.3 127.3 60.3 697.0 1,165.3 34.9 729.0 8,316.3	745 70.06 394 148.5 887 17.6 264 33.3 026 61.3 201 34.3 927 28.7 035 75.9	71.238 73 155.271 47 17.161 11 35.831 95 61.287 54 33.685 69 27.910 44 77.047	Throughput (avg) 802.992 1,136.637 689.036 471.470 1,123.997 669.776 909.356 524.033 1,889.561	0.000 0.296 3.593 0.702 0.284 0.221 1.442 0.756 0.980
UC09 UC10	113.0		43 25.250	534.558	0.817
UC09	113.0	651 26.5 <sub>-</sub>		534.558  ng 1 ■ Serving 2 ■ Thro	
UC09 UC10 Use Case \$ 2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10 Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			
UC09 UC10  Use Case \$2,000 ——————————————————————————————————	113.0	651 26.5 <sub>-</sub>			